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for the questions.

PART-A (F-9)

i

Q. No. 1 (i=vi) carries 1 mark eacl 1x6 = 6
Q. Nos. 2 -7 carry 2 marks eacl . C %6 =12
Q. Nos. 8 =11 carry 4 marks each 3 4x4 =16
Q. No. 12 carries 6 marks 8 o gxl = 6

‘ Total = 40

PART-B (% - oig#))

Q. No. 13 (i-vi) carries 1 mark eacl 1x6= 6
Q. Nos. 14 -19 carry 2 marks cacl 2%6 = 12 |
Q. Nos. 20 - 23 carry 4 marks each : 4x4 = 16
Q. No. 24 carries 6 marks 6x1= 6

Total (PART A & B): 40+40=80
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PART-A /F-9

Define involuntary unemployment. 1

o~

iAoz FRRis ke G|

What is effective demand ? ' Al

What do you understand by depreciation of capital ? 1

GNE/ = GBP il = ST, (Fill in the blank)
1

GNP = GDP - (71 1% 779 1)

What is foréign exchange market ? : | 1

s Riwm qee &

Which of the following transactions are included in the current-

account of Balance of Payment ? 1
HRHIKE IO HeTe [T MEFERS (@R GFen Suve o

(1) Import and Export of goods

TR S i

(b) Import and Export of services
| CRR S =i <@

[2]

(c) Unilateral transfer

AR TR

(d) All of the above
ST ASCENRIS

(Choose the correct option)

(% Tewh) IR TEed)

2. Write the differences between GDP at market price and GDP at factor cost.
2
 IGI% W9 GDP W% S 1w GDP- WieR #1152 |
OR /S2/<)

. Write one similarity and one difference between intermediate goods and
capital goods: , | 1+1=2
THS] Y TS PR T 95 ey Wi G5 ALY R

3.  What do you understand by ‘Paradox of Thrift’ ? o)
FiReTE 1 FOIRSR AR e [ z@ie
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OR /<41

What is aggregate supply ? Explain.

2
AaE @ae 52 3= 71|
4.  Write two differences between direct tax and indirect tax. 2
2O B9 SR HEIE I WES 707 AL B
5. What are the components of high-powered money ? 2
THETCTE T@E SAMTRR & 62
OR /G4
Define Bank Rafe and Cash Reserve Ratio. ; =2
& T TR W97 AT SHAAeS HeEEl R | -
6. . Write two differences between Balance of Payment and Balance of Trade.
2
ST el W% AfAEIR TSR MG 701 wiiel FHR |
7. Write in brief the ideas of fixed exchange rate and flexible exchange rate.
2
frm R 23 o ~Redaia [ g2 a=ar 451 v3tz B
- 32T ECON (41

8.  What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of
investment multipliér. In this case, what will be the v;_qlue of MPC ?

1+1+2=4
ezl e 2 T2 300 IS TR ea RiFnce ensia =i 1200 o 5
g E, (o0 RARe @qwg 99 sial 7911 @3rEas, MPC-F T iy 292
OR /91941
Briefly discuss the components of aggregate demand. 4
ANEE B2 TAMTTIR AT SEsa <9 -
9.  Write differences between the following concepts : (any two) 2+2=4
R qReEEE Wes Ay &1 2 (R w9
(i) Autonomous inVestment and Induced investment.
o R % Sfbes R |
(ii) Ex-ante consumption and Ex-post consumption. .
AON*S ToTEl W iEE Tere |
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(i) - Marginal propensity to consume and Marginal propensity to save. i OR /Efejaf

2ifas Torel 29ael Wik Aifee HEey e | | ' . Define the following : _ | 1+1+1+1=4

were fraimes Wil @ ¢

(iv) Marginal propensity to consume and Average propensity to consume. F ' :
i (i)  Fiscal Deficit
2T TATSI 29! S 1Y SATSIo 2 | e i

(i) Primary Deficit

10. Discuss four main functions of Central Bank. % 4 _ a‘]‘ij:;]—q% Qo
T (e BT T < = ST 2= (i) Planned government expenditure
sifisfEre sl <7
OR /3241 '
(iv). Non-planned government expenditure.
Explain how commercial banks create credit. 4 - ' “{f<TE-A2YY bRl A |
IS @ @EaE 29 B E A 91 | 12. Exp_léin how GDP is calculated using Income method. 6

R oo AYTS FEIE Gmemw-@,amﬂwl

11. Discuss the components of Government Budgét. -4 ' OR /%7271
5491 AEsT AR, ST 3 | Discuss the reasons why GDP can’t be used as an index of country’s welfare.
| GDP % 0t Y= S99 7538 ee IR IR (RIS FIRTag o=l 1 |
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" PART-B / 4-=IgH | (iv) What is the difference between ‘Labour Force’ and ‘Work For_ce' ?
1

13. (i) Define sustainable development. . 1 R P L

ST Caged ke (el | , i T .
(v) Mention one similarity of the economic policies adopted by India and

4 f A g Pakistan. ! 1
(1) During British rule, decay of Indian handicrafts was caused by —

TiFe & AR a2 < wLASF o3 b AP Sz |

1
: s “iFesiee Si9ed Q@ﬁw 7ol FR9 e — 0 ; ; ' (vi) The ‘Great Leap Forward’ campaign in China focused on —
% 1
(@) Discriminatory tariff policy of the British Government ' I
| ' ST TR 9= @7l (Great Leap Forward) SfedFd ¥4 @S¢
&2 pesiss RUewere 9% A1fw ' : wifee —
(b) Competition from machine-made products X i (1) Privatisation
r-ffife 7a o< AN (@7 afswifiel Ffeaod i
() - Change in patterns of demand ) Widespread industrialisation
pifEm 4999 ARTOA GO ABRTe)
) All of the above (¢c) Development of services sector
GoigE FCEAEIR AR
(Choose the correct option) ' ' () Economic reform
(w5 CGI0h)
: 9z Efapesr) | | w7 T
(iti) In which year the NITI Aayog was formed ? 1
_ : _ . (Choose the correct option)
s (NITT) wicaisl GBI 570 7107 1 TRy | (o5 Sewm A% )
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14. Mention fwo major industrial sector reforms in the Indian econmﬁy undei' ; 16. What is structural composition of an economy ? As on 2021, which sector

the poli_cy of liberalisation. 2 contributed highest to the GDP of India ? \ 14152
TTIRIRC IO TR SRR WLt STl 16 s w1 757 e FHES - SeRfeT «ofefen el Ree 2021 570 (G 62 BReS GDP C A<
T 741 | '- e (HInizTR?
OR /241 & | - OR/S44!
Write about fwo positive effects of LPG policies in the Indian economy. ‘ Write two characteristics of small-scale industries. 2
2558 =y SR 7ol @MY
SiTe T Sdqifee LPG FIfex 70! ([N e Ram &2
17. Write two differences betwéen economic infrastructure and social
15. Write two merits of GST. - : ) infrastructure. 2
Tl (R | e Argaf s A sresieRe 71 A FE
OR /527 : : ‘ OR/ F2/<1
What is demonetisation ? Mention ore positive effect of demonetisation in . Wiite about fwo problems faced by the power sector i ;
the Indian economy. ' 2

wiees Wfe 192 TAIH @@ilgﬁmﬁm GEl
Rameee o ool weNifos RgeR @b FeR efor B <5 |
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; 20. Discuss the goals of planning in India. . 4
18. Write any two measures undertaken by the Government of India -to

; e ‘ SReads ARTHEAR SO ST K
improve agricultural marketing. 2 2N ik o
[ TG GIZIN THANR AR OIS bIAE A28 I[N A 7! e T | | ' - OR/ T
OR /524 - , Briefly discuss two positive and fwo negative impacts of Green Revolution.
2+2=4
What do you understand by diversification of agriculture ? 2

Five R2d8 70l GHIND R 705 YT dOiKE I o3iE weEnal K|
s @had I & 3@

21. Write a comparative note on the demographic indicators for India, China

19. What are the _three main approaches undexftakcn by Government of India and Pakistan. b

to alleviate poverty ? ' 2

sRE NART Mot fefes ©Fe, B oi% AR 9 gemreT

Rwel TSIASEE AR BlE© bEIcd A% 91 YE i fofanr f$ e i | ' |

(il &g® 1|
OR /@12 o | : . OR/wE
Write a short_ noFe on MGNREGA. - ' 9 (i) Write two reasons for rapid economic development in China. - 2
MGNREGA-X s o3tz @61 GOrl & ' S we adtfes Kame 767 wd |
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24. What is organic farming ? Discuss its merits and demerits. © 1+5=6

(i)  Write two reasons for slow economic ginwth in Pakistan. 2
AlwiNg W29 wLEeT IR gﬁm‘m &2 | ‘ EfT I 1%? == ﬁﬁ“?‘_‘m FIRATIAR Bz P _
OR /2
22. - Write about different types Qf_unem'ployment. 4 .

What is Human Capital ? Discuss the sources of human capital formation.

ey Riey asRemzs REw &0
: 15926

mﬁ% e {2 R e mwwsgw Eill

23. Is economic growth, a cause of environmental degradation ? Justify your

answer. _ ] a
ST TRz A< KB (RF1F 9bi =6 m%p RO @@g e | 2
| OIS | :
OR /%<1
() Write two causes of global warming. 5

Gl SXeel Ifas 76 = &3 |

(ii) Suggest tiwo measures for attaining sustainable development in India

SIS g5 UNAA iU AR 751 2R e |
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